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EF P HEREER C (R P M C HEEFRELW) , XKW NEME
B —FE). 3R AP/PB=2%15 2 -1

P E
¢
D
%
N
C

36 | —MESE 6 N EEfL ABCDEF 6 N AAL A HEeALE XA ML E, B HEgsk A
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MR WESFIER C, FIAEA (mtn) (mn) >0 H mn>0 B3

(mtn) (m—n) <0 H mn<0 251 =BR5E T mn [[5 Fr DARAS SF AR S 2R A5

44 | —AFEIEFRNE P R ARE PX)=—(X-B) X-C),b M c [&#xE, WERP (5)
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& 3NEED
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{HAE M e RATVEME xyz &R T H4E
%A 2 %&%E
1+2 A FEAR B TC VL e B
E
AHH: W xty+tz=? & AR




50
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51 | ANHIRBEH, #f2 simple interest
IR A BIRIZAE 4%, B A& 6%
FEBLEHAZ T 500 £
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52 | EAN-1<x<0, M8 x -2, x "~ 1, x, 1 IX VYN BIRHEF
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AN EAEW median LR —NMES R median K
ARHAMWS: FH=M: 5 NESM range LLE—NMES K, M= Nk
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FAMGIT: BFIA 659 KT RTLIS, BEFT, HENZ
BB FOAEE 6, HR—IE 5 AKTRER 1, iTCFBI

68 | A 182/ RHERTINE AT LR box, /i TR FAMEA, Box /& 212
cubit feet. i = 5 inch. 1 feet=12inch
ZAE 1:box A —PillfE 2 feet
A 2 FHLGER B & Sinch
ARAMFANTE: FAMERER T, NiZEB, FAZ most, WEBET
JUAS, FENZEE R R
69 | ps, i 1A FHEWSAN SN, A2-2/3; BT €2/3;D (2/3) "2;EMRET
(2/3) FIETD
70 | ps, B MR, BRI, HBEER S 1/4, W
1/6, RA/NMESRE 1/8, AEFEIT 143 24, W5 W3 i b dz /s
RENZDN?
71| FFAESIHEKIREE SR, MPANERES I AL
a. ZHINHEMREMAE 20 A
b. ZIn 7 R, 21HE, PALERESINEA 40 A
72 | MR AAR R (perpendicular?), SR1ZFKIE x=5 y=5
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A: x=b, x=-1/5
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. k 5xWRZEAKRT nE x LA

2. k 5y AR T nE x LA

3. mBIREANT 0
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1. k £ x #1fY intercept KT m 78 x ®HIH) intercept

2. k 5y intercept KT m 5 vy #if] intercept

3. mIRIZEANT 0
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n e 34
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2. 5n=7k
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S: is 3 a factor of X % 2 (2n) + Y % 2 (2n+2) + Z * 2" (2n +
4) ?
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DS: —“ number line [ A\B\C =N, (FREEVERIXA line B
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93

A5 1A F=6mlm2/r2, , HMRLFREZM (nl+m2) N
29.4%10-11, FEES (r) & 4.47%10-11, FE&H KT 46
WA m A At v B LA

94

X, 11, 18, 3x. 6x; 18 BRX =MW AE, KX 5 MUFHmKF
B

95
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1. b EWAIEL b3 (A E EJE b MU B 6) H—A factor.

2.b HLEL b6 (AP b2 b Mg b2 6) H—A> factor. ik T
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A — R K AR R AL A 600, N AMEFR GRARFL ) 8 [/
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97 | B—MEERHET 12 MREECAHD, AMRREEAKET 24 K, BEK
%tA*T 30 A, LSRR 12 BIREEL
. AMRIREE 25 A
2. BARRH a N (2 BAREUE, &)
98 | x+y=1.x 2+y 2=3, K xy &
99 | FELEEH xtytz BEABEME 10 BERR KAF 1D x+z BERE 10 BEFR K 2) v
REdl 10 #&F%
10 | [x]is less than its least integer or equal to x, [y] =2 3K
0 [y/3]
10 | IBEDMBLEL], 0-20000 2% 2-5w 2.5% @it 5w 3. 5%, [AEWI4H 1%
1 HEOX N B R AT B B2 3% &S
A= 10w
10 | B4 set GHlset F, set GHIFIELL set F & RKEIEEK, RHEAS
2 | RIEFIM? WHBRAERT 11 111, G0N ET0E set G P E—E L
setF WK, HEMNETZ set G 1 range b set F ok, A BIH
EIEAE R T
10 | XFEEJLAS BMI AR, [RI9RAS Af BMI {E /& the third highest ? (—4
3 | A HI6 NN, ol EE, —FIRE, FEE B iFEAXE I
A BREAE 01, RS 17D
10 | B4 ds RETIEA
4 | UM ANEESEAET 1000 Begk, KERTTRELZ MRS, (H2fh 6 H 1
SR THERIEAER L, 28T 6 A 8 A%, XAEMEREE LTk MN
T, AEEHAT S HIME%H), v how many more shares could
jack buy on june 1 than on june 8?
(1) M june 1 %] june 8, BEZE(HIM &K T 15%
(2) M junel #E june8, BEZEMIMAETK T ¥2
10 | &FH—
5 | 2019 % gross profit & —AML , RJFHAR 2020 2%
(1) revenue 3k 7 10%
(2) WATEK T 5%
10 | A HHHH IE:
6 a>0 N4 ?

) a/MfFa¥Fiy
2) a/NFT a P el
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T ERE: 1
10 | s 72 3 PMELLEEEM LIS, xyz=p, p<T0?
8 | () pR&3INFEAME (FEAFRIT)
(2) M2 T 14
KEEARRE L T A ER
10 | EA-1<x<0, A8 x -2, x —1, x, L RPUDEANNEERHE, X RE
9 #& which one of the following is in increasing order
11 |x is inversely propotional to the product of a and (b~ FJ5) ,
0 y 1is inversely propotional to the product of ¢ and (d-F
7)), REXRBEAEAIEET, M2 a=5 FIE =8 K1{E v KZE b
%
(1) bl=dl AEE#IE, HEHPRARIN b, dl, RJFIXERR
HEL T bldl)
(2) Aefz3 7T
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1 2
‘1)?, & ﬁéx g 7-?, 15 *g* the [oweg{- terms ?
O ¢=ptL
2)- (L < 2?
11 [DS: x Mla*b 2 Bk bl, y Rlcxd 2 iR t, A bl Rl dl NEEL, a=40
2 | Mlce=sh, x/y MHERZZD
A 12 b=d, M 2: B LR EREAA TR
11
3 m. ¥ xst (3.20. s{opco‘F > K

17 « - intergeption Ff m 4 K
1> y-interceptn of m <K
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